T4. WK1. Lesson 4 Extra Challenge!

Reasoning and Problem Solving — Count in 55 1

1. Wes is mnki.n_g this line pattern with counters.
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Andrew says,
If you make 2 lines, you will use 11

(3 ! E !:' counters.

Do you agree with Andrew? Explni.rl_ your answer.

2. Kali is mnking this cross pattern with counters.
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Ellen says,

If you make 3 crosses, you will use
14 counters.

Do you agree with Ellen? Explnin your answer.

3. Grant is making this ‘T’ pattern with counters.
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Louis suys,
If you make 4 ‘T' shapes, you will
use 4 counters.

Dn you agree with Louis? Explain your answer.

4. Rhian is mukirua this column pattern with counters.
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Ginny says,
If you make 5 columns, you will use

{h‘? 25 counters.

Do you agree with Ginrl_g? E:-cpluin your answer.
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